25,

138,

300




0-000 2

25
05-******.00002-10

o

(@R
o o

-05.12.10(0)

[EEY

14
00
19
01
01
00
01
04

05-******-.00002-10



0-0003

138,

300

138,

300

05 -

* * * * * %

-00002-10

138

138



0-0004

1)
13,315,201
2)
11,875,200
3)
11,875,200
4)
mB3 1,620,800
( ) R R
1,600 m3 1,620,800 05121
4)
mB3 10,254,400
3 D R R
DI D 35.0km (19.0km )
| 1,600 m3 7,502,400 05121
””””””””””””””””””””””””””””””” 05121
1,600 2.752.000

05 -

|
* * * * * %

-00002-10



0-0005

2)
1,440,001
3)
876,361
4)
m3 876,361
50 522,000 05121
6m 0 g
50 31,200 05121
3 D R R
DI D 35.0km (19.0km )
‘ 50 m3 2834, 450 05121
BT2t 2.9t | | 0
55.5km (4 0k m| )
0.1 t 2. 061 05121
””””””””””””””””””””””””””””””” 05121
50 86,000
””””””””””””””””””””””””””””””” 05121
0.1 650

05 -

|
* * * * * %

-00002-10



0-0006

3)
563,640
4)
563,640
B
””””””””””””””””””””””””””””””” 05121
44 563,640
13,315,201
653,600
32.2
100 m3 223,600 05121
””””””””””””””””””””””””””””””” 05121
100 m3 430,000
903,000
1,556,600

05 -

|
* * * * * %

-00002-10



0-0007

14,871,801
777777777777777777777777777777777777777777777 4,507,000
19,378,801
777777777777777777777777777777777777777777777 3,467,590
77777777777777777777777777777777777777777777777777777 6, 6009
7777777777777777777777777777777777777777777777 3,474,199
22,853,000
777777777777777777777777777777777777777777777 2.285,300
25,138,300

05 -

!
* ok ok ok K ok

-00002-10



SPK23040001 -0001
( ) 1 m3
28. 44% 59.55% 12.01% 00 % 1,
( ) ( ) )
( ) ( ) MTPCOOO f
2 28. 44% 8,190 2 7, MOUBTOO0OAK
0.281/ 0. 2m3 0.281/ 0. 2m3
( ) RTPCO0O0O0(
59.55% 19,320 25, RUPTO00O0(
TTPCOOO 1
12.01% 144 TEBTO00O01
EPOO1
1,013 0
A=1 B=5 ( )
E=7
MTPCO0O0O6 2 = I / Yy o+ = 1.1)
=713 * | (690 / 180) + (5,478.0) 8, 190
1,012.6555 = 1,147.4000 *
([ 28.440/100*8,190//7,700]) * [28.440/28.440]
+ ([59.550/100*19,320/25,300]) * [59.550/59.550]
+ ([12.010/100*144/138]) * |[12.010/12.010]
+ [100-28.440-59.550-/12.010]/100

05 -

sk xxx_00002-10



SPK23040002 0 -0002
( ) DI D 35.0km (19. 0km ) 1 m3
25.13% 61. 92% 12. 95 % 0. 00 % 5,11
( ) ( ) ( )
[ ] [ ] MTPCO0001 7"
4t 25.13% 7,7934t 7, MZBT000 17"
( ( ) ) ( (
( ) RTPCO0O00Q7
61. 92% 17,535 21, RUPTOO00(Q7
TTPCO0O0O013
12.95% 144 I38T00013
EPOO1
4,689 0
A=2 B=5 0. 28m3( 2m3)
c=1 ( ) D=1 DI
F=60 35. 0km (19.,.0km )
MTPCO00017T1 = I / y o+ ( = 1.01) +
= |/507 *|(830 / 180) + (5,225.0) + 233 = 7,793
4,688.9741 = 5,112.6000 *
([ 25.130/100*7,793//7,323]) * [25.130/25.130]
+ ([61.920/100*17,535/21,100]) * [61.920/61.920]
+ ([12.950/100*144/138]) * |[12.950/12.950]
+ [100-25.130-61.920-/12.950]/100

05 -

sk xxx_00002-10



0-0010

S10500109 0O -0003
10
RTPC0000O9
0.278 24,150 6,713
9
RTPC00001
0.278 21,000 5,838
9
RTPC00O00O?2
0.278 16, 800 4,670
9
FOO00000001
110x110cm 1 10 3, 650 36,500
FOO00000002
CBR 12 10 3,591 35,910
- 28 _ ( ) S9035 0-0004
2.9t _ 0.8m3 0.278 50, 700 14,094
#09
4 % 17, 221 675
10 04, 400
1 10, 440
A=1 B=1 ( )
C=2 F ( m3
= 1 * 10 / D = 1 *| 10 /|36 = 0.27]8 ( 4 3
= 1 * 10 / D = 1 * 10 / 36 = 0.278 [ ) 3
= 1 * 10 / D = 1 * 10 / 3B = 0.278 ( ) 3
= 10 / D = 10 / 36| = 0.278 ( ) 4 3

* * * * * %

05 -

-00002-10



0-0011

- 28 _ ( ) S9035 0 -0004
2.9t 0.8m3
RTPCOO00OG6
1.00 19,320 19,320
TTPCOOO013
104.00 L 144 14,976
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.39 11,800 16, 402
#91
1 2
1 50,700
A=21 _ 0.8m3 pB=104 L/ )
c=1 ) D=1.39 ( /)

05_******

-00002-10



0-0012

S0822 0O -0005
6 m 10
RTPCOO0O0O0O09
0. 069 24|, 150 1, 666
RTPCO0OO0O0O01
0. 069 21, 000 1, 4409
- 28 ( ) S9035 0-0006
2.9t 0. 8m3 0. 069 45, 420 3,133
#91
1 0
10 6, 248
1 624
A=2 B=1 6m
= 1 10 / D = 1 *| 10 [/ 144 = 0.069 ( ) 4 3
= 1 * 10 [/ D = * 10 |/ 144 = 0.069| ( ) 4 3
= 10 [/ D = p0 [/ 144 = 0. 069 () 4 3

05-******.00002-10



0-0013

- 28 _ ( ) S9035 0 -0006
2.9t 0.8m3
RTPCOO00OG6
1.00 19,320 19,320
TTPCOOO013
78.00 | 144 11,232
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.26 11,800 14,868
#91
1 0
1 45,420
A=21 ~ 0.8m3 PB=78 L/ )
c=1 ) D=1.26 ( /)

05_******

-00002-10



0-0014
SPK23040410 0 -0007
BT2t 2. 9t 55.5km (49.0km ) 1 t
14.21% 82.66% 3.13% 0.00% 24,55
( ) ( ) ( )
MTPCOOL1H4
14.21% 7,730 7, MIPTO0O01H4
2t 2.9t 2t 2.9t
RTPCO0O00(1
41.66% 21,000 25| RUBPTO00(1
( ) RTPC0O0O0(6
41.00% 19,320 25, ROUPTO000(6
TTPCO0O0O013
3.13% 144 T3BT00013
EPOO1
20,610 0
A=1 BT2t 2.0t B=1 DI D
C=30 55.5km | (49.0km )
MTPCOOL154 = N / )+ ( *1.1)
= 1441 *|(760 / 160) + (5,610.0) = 7,730
20,602.6038 = 24,558.0000 *
([14.210/100*7,730/[7,190]) * [14.210/14.210]
+ ([41.660/100*21,000/25,700] + [41.,000/100 * 19,320/25,300]) [82.660/ (41
+ ([3.130/100*144/138]) * [3.130/3.130]
+ [100-14.210-82.660-3.130]/100

05 -

sk xxx_00002-10



0-0015

STA07009 0 -0008

32.2 100 m3
S9050 0-00009

10t .10 54,520 23,532

#91

68

10 3 23,600

3 2,236

A=32.2 B=1

05 -

* * * * * %

-00002-10



0-0016

S9050 0 -0009
10t
TTPC00013
60.00 L 144 8,640
RTPC00007
1.00 17,535 17,535
MTPCO00018
1.29 21,300 27,477
10t
K1028
1.29 667 860
#91
1 8
1 54,520
A=5 10t B=1 ( /)
C=60 ( ) D=1.29 ( I
E=1 F=1
G=0
= * / ) o+ *11.1)
= 1,430 *| (830 / 180) + |[(14,740.0)
= 21,300
05-******.00002-10



0-0017

© 0

X1000
Y1BO2
315,201
Y1BO20]
875,200
Y1B020101
875,200
Y1B02010101
m3 620,800
SPK23040001 60 1A813B=5, E=7
( ) m3 6 2 |0A = . B=
Y1B02010102
m3 254,400
SPK23040002 60 4pA689B=5, C=1
( m3 50 2A = , B= . 2m3) ,
), D=DI D .okm (1
#0041 c=1
7 52C =
W0 00 1 60 1AZ2020, B=0,
752A=000, B=
Y1B0208
440,001
Y1B020801
876,361
Y1B02080101
m3 876,361
S10500/109 5 10A440B=1, C=2
52 2A = ) . C= F
S0822 5 A624B=1
6 m 31A= ., B=
SPK23040002 5 4A689B=5, C=1
( m3 2 34A = , B= 2m3) ,|C
), D=DI okm (1409

05-******.00002-10



0-0018

SPK23040410 20A610B=1, C=30
BT2t 2.9t t 2A = BT2t 2.9t ,B=DI D ,
. 5km (49. 0km )
#0041 CcC=1
8 6C =
W0001 5 1A%20820, B=0, C=
86A=000, B= , C=
W0001 GA56800, B=9, C=
A=650 B= , C=
Y1B020821
563,640
Y1B02082101
563,640
R0O369 B 4 12,810
563,640
GOoOOOO
13,315,201
Z0005
653,600
STA07009 10 2A238. 2
32.2 m3 223A=
w0001 10 4A3868600, B=9, C=
m3 4 30A=000, B-= , C=
Z0050 | 10, 888, 907
903,.0.0.0 0.0798
...... 10, 888, 907
1.0000
903,000
...... 903000=10888907*0.0830 (
*1.04)
G1000
1,556,600
G2000
14,871,801

05_******

-00002-10



0-0019

~ o
p— p—
N~ N~ N~ N~ N~ [« (@] (@]
o o o o o < o o o o o
Te] Te] O - Te] Te] N~ O W0 ™m0 o o
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0-0020

SP K2 30400 0-0010 0 1 A=1, B=5, E=7
( ) m 3 1 1,013
S P K2 30400 0-0020 0 2 A=2, B=5,C=1, D=1, F=60
( ) m 3 1 4,689
DI D 35. 0km (19. 0km
S10500109 - 0003 A=1, B=1, C=2
10 04, 400
S9035 0 -00028 _ ( ) A=21,B=104,C=1,D=1. 39
2.9t 0. 8m3 1 50, 700
S0822 0O -0005 A=2, B=1
6m 10 6, 248
S9035 0 -00088 _ ( ) A=21,B=78,C=1,D=1.26
2.9t 0. 8m3 1 45,420
S P K2 3 0 400 4-1000 0 7 A=1,B=1, C=30
BT2t 2.9t t 1 20,610
55. 5km (49. 0km
STAO70009 -0008 A=32.2,B=1
32.2 m3 100 23,600
S9050 0O -00009 A=5, B=1,C=60, D=1. 29, E=1
10t 1 54,520

05 -

* * * * * %

-00002-10



0-0021

(0. 8)(1. 9) (2. 6) (3. 7)
FOOOOOOQOOOO1 3,650
110x110cm
FOOOOOOQOOO0OO0O2 3,591
CBR 12

05 - * * * *

**-00002-10



0-0022

Wo0001 1,720
Wo0001 69500
Wo0001 m3 49300

05_******

-00002-10



0-0023

N

060050808000

oo oowwovFoTyonod
VOAOOITITOMNMNON~NO MO
NOMOANOOOM~MNMOOMN~NOD
LANONMNOST AdA<T

© < < o ™

N (*2]

o

*xxxxx_00002-10
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0-0024

ISTAO07O

09

MTPCO0O018

05 -

* * * * * %

-00002-10



0-0025

Y1 BO 2
13, 315, 2051, 873, 494
Y1B0201
Y1B020101
Y1B020101011
mg
S P K2 3 0 400-000010 1
( ) m3 1, 6|00 1,620,800 833,600
Y1B0201010p2
mg
S P K2 3 0 400-000020 2
( m3 1, 6|00 7, 9502, 4040, 208, 000
DI D 35. 0km (19. 0km
#0041
1 2,752,000 0
WO 001
1, 6|00 2,752,000 0
Y1 B0208
Y1B020801
Y1B02080101
mg
* % * %

-00002-10




0-0026

S105001109 000 3
50 22,000 1112, 950
S0822 0-0005
6m 50 31,200 22,200
S P K2 3 0 400- 000020 2
( m 3 50 34,450 131,500
DI D 35. 0km (19. 0km])
S P K2 3 0 400-401000 7
BT2t 2.9t t 0. 2,061 1,604
55. 5km (49. 0km
#0041
1 86, 650 0
WO 001
50 86, 000 0
WO 001
0. 650 0
Y1B020821
Y1B020821010
R0O369 B
4 4 63,640 563,640
70005
53,600 71,800
STAO70009 0008
32.2 m 3 00 23,600 71,800

05-******.00002-10




0-0027

WO 001

00

30,

000

05-******-.00002-10




